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1. (a) In an election, Stella gained 28 416 votes out of a total of 38 400 votes
Write 28 416 as a percentage of 38 400.

REH 6 Y 100= 74 i
38 Lol e

[2]
(b) Jake needs to find a selling price which is 12% more than £766.

Find the selling price.

R f £766= 0-2x766= £9192 746
\\ X Q™
AT66 + £91-92 = £85T92 LW =1

[2]

2. Circle the calculation that increases 400 by 7%

400 x 0.07 400 x 0.7 ~ 400 x 1.07 ) 400 x 1.7

[1]
3. In a company, the ratio of the number of men to the number of women is 3:2
40% of the men are under the age of 25 600/}, R ]0/
(o LH
10% of the women are under the age of 25

2 A R
What percentage of all the people in the company are under(thz/zslge>of 257 (' / S )
MO 40% Q) 60% = oXU =24,
w107 e 407, = L %

A+t = AL
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4. In 1999 the minimum wage for adults was £3.60 per hour.

In 2013 it was £6.31 per hour.

Work out the percentage increase in the minimum wage.

Inaeoe I wog) = &6-31- £3-60- £ 71

"/oH’LC,(\QgJ)_Q: %}([OO: 753/@ (lAP>
%

% [3]

5. A shop has a sale that offers 20% off all prices.
- (00 -0 = 80

On the final day they reduce all sale prices by 25%.
Alex buys a hairdryer on the final day. Im"aj = 7 S-

Work out the overall percentage reductlon on the price of the halrdryer

7 /8/ 15 3 - = @O
0:8x075 = ExIT 0 < 2 " ioos
- €0

100 ~60= 4O

6. Kamile sells sandwiches.
In May, she sold 400 sandwiches.
In June, Kamile sold 20% more sandwiches than in May.
In July, Kamile sold 15% fewer sandwiches than in June.

Calculate the percentage change in her sales from May to July.

JWQ: %0400 = WOxA= 80 #8100 = &

4@04-?@: 480 }%xm +
157%0) U8 = 4842U=TR 9

L,Lg() T e M0 0 e K.
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7. In a school, 60% of the students are girls. 60 /-3Lf3 —7|oo S
50% of the girls walk to school. \j

= = 20% of the boys walk to school.

What percentage of the students walk to school?
| D50/of 607 = 307, (60+2) 307 +8/ - 38/
-5 20/ of 407 = B

—

[3]
8. A shop has a sale.

Microwave ovens Combination ovens

1 : ) .
3 off normal price 40% off normal price

1 2 .
A microwave oven has a sale price of £90 = BO{F 3" £40

E
| | 3. 4523 = £132
A combination oven has a sale price of £84 3 -

Which of these ovens has the greater normal prlce7

Jy You must show all your working. 84+ 6 o ¥
LGO/ = £8L,-
107, > 1% lxlo combunghen orEnL\asH\.é
- LIOO/ £mo greato normal pnea .

[4]
9. A cuboid has dimensions x cm, x cm and y cm

or\iﬁmlvolume : Jexoexy
= xzj

xcm
Newvolwe z l-loc x l-l:»c.xO-Sj

[

l-1x)-1x 0 -8 x 2y
O-qu’x"ﬂ

xcm

X is increased by 10%
y is decreased by 20%

Work out and describe the percentage change in the volume of the cuboid
|-0-963 = 0-032 (3-2/)
e ér o prarsae reduchin of 327.

[4]
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10. Sophie sells birthday cards.
She adds 30% profit to the cost price.

i p L) . i ¢
She sells the cards for £2.34 each. (DSTWKQ: 0‘29\ %(’IL "] l ¢ 3
She wants to increase her profit to 40% of the cost price. - ﬁ ' P 8 O

How much should she sell each card for?

L1080 LU= £a:52

[3]
11. A ball is dropped from a height of 50 metres.
After each bounce, the ball reaches 20% of its previous height.
How high does it reach after the second bounce?
50X 1:2%= TR maies
00‘;-—
[2]
12. The area of an ellipse, width a and height b, is given by
mab
4
AN
b
v
< a >

A rectangular photograph measures 15 cm by 10 cm

It is put into a frame as shown.
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Notdrawn - EUPSD ¢
Tob_ Ty5x10

< 15 cm > Lt— L‘—

) g = 37 5T oM?

The part of the photograph that can be seen is an ellipse.

N

@thmcm
[ax 15
-':l SO QLLZ V

Work out the percentage of the photograph that can be seen.

FTOT x100= T8:5% (ldp)

13. A doctor claims that the probability of having regular illness is doubled if you have

poor sleep rather than good sleep.
In a survey, 16% of people with poor sleep had regular iliness.

Here are the results for people with good sleep.

Good Sleep

Number of people

Regular iliness 24

Not regular illness 276

Comment on the doctor’s claim. You must show your working.

6 Wt teqular llnan = 2% w100 = 24 xI00= 3
(ZT6AY) X0

8% X =106 % -
e dockav's claim is Coneck |
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